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2 955,705 967,450 A1, 745
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O=M8% A 1,800 2,000 A200
301 YBHBAD 4,320 4,800 480
10 BAAHIEAS 4,320 4,800 480
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206 T2l 1,872 2,080
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= 15,000 15,000

= 4,500 0
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= 15,000 15,000
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= 35,000 35,000
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201 Yt 1,835 2,038
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OJIAH2RIZ4S 12,000 0 12,000
= 6,000 0 6,000
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= 0 1,500 A1,500
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L= 0 10,000 210,000

i 0 10,000 210,000
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206 M=l 15,800 17,000 21,200

01 M=H| 15,800 17,000 A 1,200

gidl, 8lg s 74 10,800 12,000 21,200

207 AN Y| 9,000 10,000 A 1,000

01 2 E 2| 9,000 10,000 21,000

OLIH| ME S A = d 9,000 10,000 A 1,000

401 Al&HI LS04I 25,000 10,000 15,000

01 Al&H| 25,000 10,000 15,000

O LI MBI 2o s+ 5 gl 15,000 0 15,000

Aostd 22l 15,825 16,150 A 325

AAed 2da2e| 1,925 2,250 A 325

201 LetHH| 225 250 A25
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O IAXE=s 822 225 250 A25

301 Et2A = 1,700 2,000 A 300

10 HAAHIZ &3 1,700 2,000 A 300
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= 20,000 20,000 0
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—SSoE4 HIE #8 8,430 10,000 1,570
02 E5=2&H| 23,265 25,850 A2,585
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201 2et=g| 29,880 33,200 A3,320
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206 M2 61,054 67,838 6,784
01 M=Z8l 61,054 67,838 NG, 784
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401 Al&H| 2= 0| 113,050 119,000 A5,950
01 Al&H] 113,050 119,000 A5,950
OSASE HIIS 28I A &3 94,050 100,000 A5,950
—0t2 ZS(10041CH) 36,050 42,000 5,950
WEEE 43 2 HISMD 24 28,620 31,800 A3, 180
01 Lea 28,620 31,800 A3, 180
12 JE2A3 28,620 31,800 A3, 180
OMESE +aFA2 L N4 27,820 31,000 A3, 180
-NHESE +EFAS 16,820 20,000 A3, 180
HulY +oH2a 52,000 52,500 A500
= 11,500 12,000 A500
2 40,500 40,500 0
301 Yersaa 52,000 52,500 500
= 11,500 12,000 500
2 40,500 40,500 0
12 JIEt2 A 52,000 52,500 A500
OHHIY +HE2H 52,000 52,500 A500
= 11,500 12,000 A500
2 40,500 40,500 0
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= 848,000 848,000 0
= 665,333 665,333 0
= 3,111,309 3,144,047 132,738
HOIZ2H2IAE 2 211,962 232, 180 A20,218
201 Yereoy| 176,562 196,180 ~19,618
01 At22relt| 29,664 32,960 A3,296
OYst+2H| 29,664 32,960 A3,296
—HEL S2TUM 8,944 12,240 ~3,296
ZZ2 | 146,898 163,220 ~16,322
Oz3z2e2 % MA 130,698 147,020 ~16,322
—VBTEH2IAlE ®IIR3 11,839 20,000 £8,161
—ol4aLd X BSAE ®Ile3 11,839 20,000 ~8,161
L] 5,400 6,000 600
THE 5,400 6,000 600
O s Witz g 2,400 3,000 600
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st o] 107,730 119,700 A11,970
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= 492,000 492,000 0
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202 O4Hl 1,440 1,600 A 160

01 WY 1,440 1,600 A 160

OXlot= HZZA (44l 1,440 1,600 A 160

401 Al&HIZL=ROHYI 15,960 16,800 A B840

01 Al&HI 15,960 16,800 A 840

OExE o=+ 15,960 16,800 N840

282 =EA4E 22 82,075 91,195 N9,120

201 LetE&l 78,025 86,695 A8,670

01 AtR 22/t 78,025 86,695 A8,670

OZ232= ¥ HMAl 78,025 86,695 A8,670

= (HES) 35,338 44,008 A8,670

206 M=l 4,050 4,500 A450

01 M=l 4,050 4,500 A 450

OF+AZ(BE222II) 4,050 4,500 A 450

oH==E=3t Y 2AEH 22 15,800 13,000 2,800

201 EH2HH| 14,000 11,000 3,000

02 23223l 14,000 11,000 3,000

OAEZ IS X 14,000 11,000 3,000

- & dix=g=3tAE SA2a 13,000 10,000 3,000

307 QI12+0I & 1,800 2,000 A 200

02 2ItAANSE X 1,800 2,000 A 200

Odl=E=3tAE HIIR3 1,800 2,000 A200
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201 Yer2oy| 27,900 31,000 £3,100
02 2B2H| 27,900 31,000 A3,100
OZ222 % MA 26,300 29,400 £3,100
—EHAE IR 24,500 27,600 £3,100
BHSAAU(BF ST 1,265,982 1,276,668 A 10,686
=l 9,174 106,860 10,686
|2 (SMLTE) 42,174 46,860 14,686
201 Yer2oy| 13,680 15,200 A 1,520
01 ArR2t2IH| 13,680 15,200 A 1,520
OBN2Y LetgH| 8,080 9,600 A 1,520
202 01t 24,660 27,400 A2,740
01 2U0td| 24,660 27,400 £2,740
OBN2Y ot 3,660 6,400 £2,740
203 YR FAY| 3,834 4,260 ~426
04 PASZAREAY 3,834 4,260 £426
orN2Y 3,834 4,260 ~426
EET IO E=1=)) 21,600 24,000 A2,400
202 01t 21,600 24,000 £2,400
01 2UH0tHl 21,600 24,000 A2,400
OMD| HAXZ SFIIAL Ot 9,600 12,000 A2,400
EET D= 10,800 12,000 A 1,200
202 01t 10,800 12,000 A 1,200
01 =2U40tH| 10,800 12,000 A 1,200
O=LHoiH| 10,800 12,000 A 1,200
|l2dul(4+EE) 12,150 13,500 A 1,350
202 01| 12,150 13,500 A 1,350
01 2048l 12,150 13,500 A 1,350
O=LHoiH| 12,150 13,500 A 1,350
EETIGCEN ==Y 9,450 10,500 A 1,050
202 01t 9,450 10,500 A 1,050
01 2U0iH| 9,450 10,500 A 1,050
O=LHoiH| 9,450 10,500 A 1,050
2 (HFSCD 10,676,994 10,730,690 153,696
B 10,676,994 10,730,690 153,696
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